

Acta Universitatis Palackianae Olomucensis. Facultas Rerum
Naturalium. Mathematica

Tomáš Kepka; Petr Němec
Simple balanced groupoids

Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica, Vol. 35 (1996), No. 1, 53--60

Persistent URL: <http://dml.cz/dmlcz/120353>

Terms of use:

© Palacký University Olomouc, Faculty of Science, 1996

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

Simple Balanced Groupoids

TOMÁŠ KEPKA¹, PETR NĚMEC²

¹*Department of Algebra, MFF UK, Sokolovská 83, 186 00 Praha 8
e-mail: keпка@karlin.mff.cuni.cz*

²*Department of Mathematics, TF ČZU, Kamýcká 129,
165 21 Praha 6 – Suchbátov
e-mail: nemeц@karlin.mff.cuni.cz*

(Received March 4, 1996)

Abstract

A class of simple groupoids derived from transitive permutation groups is described.

Key words: Groupoid, balanced groupoid.

1991 Mathematics Subject Classification: 20N99

In the description of (finite) simple medial groupoids (as given in [1]), it turned out that an important class of such groupoids is formed by those that are (in a certain natural way) constructed from transitive permutation groups. Now, the medial case leads to abelian groups, but in this short note we are considering a similar construction for general groups. The results may be useful for the description of (finite) simple zeropotent groupoids satisfying some linear identities.

1 Introduction

By a *groupoid* we mean a non-empty set with one binary operation. If G is a groupoid then an element $o \in G$ is said to be *absorbing* if $xo = o = ox$ for every $x \in G$. A groupoid G with an absorbing element o is said to be *zeropotent* if $xx = o$ for every $x \in G$ and G is said to be a *Z-semigroup* if $xy = o$ for all $x, y \in G$.

Let G be a groupoid. A non-empty subset I of G is said to be an *ideal* of G if $GI \subseteq I$ and $IG \subseteq I$. The groupoid G is said to be *ideal-simple* if $I = G$ whenever I is an ideal of G such that I contains at least two elements (obviously, if $I = \{o\}$ is a one-element ideal of G then o is an absorbing element).

A groupoid G is said to be (*congruence-*)*simple* if it is non-trivial and id_G and $G \times G$ are the only congruences of G .

2 Balanced groupoids

Throughout this section, let G be a non-trivial groupoid with an absorbing element o and let $G^* = G - \{o\}$. We shall say that G is

- *left (right) semibalanced* if for every $a \in G^*$ there is at most one $b \in G$ such that $ab \neq o$ ($ba \neq o$);
- *semibalanced* if it is both left and right semibalanced;
- *left (right) balanced* if for every $a \in G^*$ there is just one $b \in G$ such that $ab \neq o$ ($ba \neq o$);
- *balanced* if it is both left and right balanced.

Now assume that G is left (right) semibalanced. Then there is a partial transformation φ (ψ) of G^* such that $a\varphi(a) \neq o$ ($\psi(a)a \neq o$); thus $\varphi(a)$ ($\psi(a)$) is defined iff $aG \neq o$ ($Ga \neq o$). Put $f(a) = a\varphi(a)$ ($g(a) = \psi(a)a$); again, f (g) is a partial transformation of G^* .

Let G be semibalanced. If $a \in G^*$ is such that $\varphi(a)$ is defined then $\psi\varphi(a)$ is defined, $\psi\varphi(a) = a$ and $f(a) = a\varphi(a) = g\varphi(a)$. Similarly, if $b \in G^*$ and $\psi(b)$ is defined then $\varphi\psi(b) = b$ and $g(b) = \psi(b)b = f\psi(b)$. If $a, b \in G^*$ are such that $ab \neq o$ then $a = \psi(b)$, $b = \varphi(a)$ and $ab = f(a) = g(b) = g\varphi(a) = f\psi(b)$.

The following lemma is now clear:

Lemma 2.1 *Suppose that G is balanced. Then:*

- (i) φ and ψ are permutations of G^* , $\varphi = \psi^{-1}$ and $\psi = \varphi^{-1}$.
- (ii) f and g are transformations of G^* , $f = g\varphi$ and $g = f\psi$.

Lemma 2.2 *Suppose that $G = GG$ and G is left (right) semibalanced. Then:*

- (i) $f(G^*) = G^*$ ($g(G^*) = G^*$).
- (ii) *If G is finite then G is left (right) balanced and f (g) is a permutation of G^* .*

Proof (i) If $a \in G^*$ then $a = bc$ for some $b, c \in G$. Clearly, $b, c \in G^*$, $c = \varphi(b)$ and $a = f(b)$.

(ii) G^* is finite and hence from (i) follows that f is a permutation of G^* . Now, let $n = \text{card}(G)$, $M = \{(a, b); a, b \in G^*, ab \neq o\}$ and $N = \{a; (a, b) \in M\}$. Since G is left semibalanced, we have $\text{card}(M) = \text{card}(N)$. On the other hand, $\text{card}(N) \leq n - 1$ and $\text{card}(M) \geq \text{card}(GG) - 1 = n - 1$. Thus $\text{card}(N) = n - 1$, $N = G^*$ and G is left balanced. \square

Lemma 2.3 *Suppose that G is simple, left (right) semibalanced and finite with at least three elements. Then G is left (right) balanced and f (g) is a permutation of G^* .*

Proof The relation $r = (GG \times GG) \cup \text{id}_G$ is a congruence of G . If $r = \text{id}_G$ then $GG = \{o\}$, G is a Z -semigroup and, since it is simple, it contains just two elements, a contradiction. Thus $r = G \times G$, and so $GG = G$ and the result follows from Lemma 2.2. \square

Now, if G is balanced then both f and g are transformations of G^* and we denote by \mathcal{T} the transformation semigroup generated by $\{f, g\}$. Further, we shall consider the corresponding biunar $G^*(f, g)$ (an algebra with two unary operations).

Proposition 2.4 *If G is balanced then the following conditions are equivalent:*

- (i) G is (congruence-)simple.
- (ii) G is ideal-simple.
- (iii) \mathcal{T} acts transitively on G^* .
- (iv) The biunar $G^*(f, g)$ is generated by any of its elements.

Proof (i) implies (ii). If I is an ideal of G then $r = (I \times I) \cup \text{id}_G$ is a congruence of G . Then either $r = \text{id}_G$ and $I = \{o\}$ or $r = G \times G$ and $I = G$.

(ii) implies (iii). Let $a \in G^*$ and $I = \mathcal{T}(a) \cup \{o\}$. If $h \in \mathcal{T}$ and $x \in G$ are such that $h(a)x \neq o$ ($xh(a) \neq o$) then $h(a)x = fh(a) \in I$ ($xh(a) = gh(a) \in I$). We have checked that I is an ideal of G and $I \neq \{o\}$, since $o \neq f(a) \in I$. Thus $I = G$ and $\mathcal{T}(a) = G^*$.

(iii) implies (iv). Obvious.

(iv) implies (i). Let $r \neq \text{id}_G$ be a congruence of G . There are $u, v \in G$ such that $u \neq v$ and $(u, v) \in r$. We can assume that $u \neq o$. Then $o \neq u\varphi(u) = f(u)$, $o = v\varphi(u)$ and $(f(u), o) \in r$. Consequently, $I \neq \emptyset$, where $I = \{a \in G^* ; (a, o) \in r\}$. Clearly, $f(I) \subseteq I$ and $g(I) \subseteq I$. This implies that $I = G$ and $r = G \times G$. \square

Lemma 2.5 *If G is balanced then the following conditions are equivalent:*

- (i) f is a permutation of G^* .
- (ii) g is a permutation of G^* .
- (iii) Both f and g are permutations of G^* .
- (iv) If $a, b, c, d \in G^*$ are such that $ab = cd \neq o$ then $a = c$ and $b = d$.

Proof Use Lemma 2.1. \square

We shall say that G is *strongly balanced* if it is balanced and satisfies the equivalent conditions of Lemma 2.5.

Remark 2.6 Suppose that G is strongly balanced. Then both f and g are permutations of G^* and we shall define an addition on G as follows:

- (1) $o + o = o$;
- (2) $o + a = o = a + o$ for every $a \in G^*$;
- (3) $a + b = f^{-1}(a)g^{-1}(b)$ for all $a, b \in G^*$.

Clearly, $a + b \neq o$ iff $\varphi f^{-1}(a) = g^{-1}(b)$. But $g^{-1} = \varphi f^{-1}$, and so $a + b \neq o$ iff $a = b$; then we have $a + b = a + a = f^{-1}(a)\varphi f^{-1}(a) = ff^{-1}(a) = a$. This means that $x + x = x$ and $x + y = o$ for all $x, y \in G$, $x \neq y$. Now, it is clear that $G(+)$ is a semilattice. Further, setting $\bar{f}(o) = o = \bar{g}(o)$, $\bar{f}|G^* = f$ and $\bar{g}|G^* = g$, we get automorphisms \bar{f} and \bar{g} of $G(+)$ and $xy = \bar{f}(x) + \bar{g}(y)$ for all $x, y \in G$.

3 Transitive permutation groups

Let \mathcal{G} be a transitive permutation group on a non-empty finite set G^* such that \mathcal{G} is generated by elements f and g . Let $o \notin G^*$ and $G = G^* \cup \{o\}$. Now, define a multiplication on G as follows:

- (1) $oo = o$;
- (2) $ox = o = xo$ for every $x \in G^*$;
- (3) $xy = o$ for all $x, y \in G^*$, $f(x) \neq g(y)$;
- (4) $xy = f(x)$ ($= g(y)$) for all $x, y \in G^*$, $f(x) = g(y)$.

In this way, we get a groupoid $G = [\mathcal{G}, G^*, f, g, o]$.

Proposition 3.1 (i) G is a simple balanced groupoid and o is an absorbing element of G .

- (ii) G is zeropotent iff $f(a) \neq g(a)$ for every $a \in G^*$.

Proof (i) It is easy to see that G is a balanced groupoid. Now, G is simple by Proposition 2.4.

- (ii) Easy. □

Lemma 3.2 Let $G_1 = [\mathcal{G}_1, G_1^*, f_1, g_1, o_1]$, $G_2 = [\mathcal{G}_2, G_2^*, f_2, g_2, o_2]$ and let $\varrho^* : G_1^* \rightarrow G_2^*$ be a bijection. Then $\varrho : G_1 \rightarrow G_2$, where $\varrho|G_1^* = \varrho^*$ and $\varrho(o_1) = o_2$, is a groupoid isomorphism if and only if $\varrho^*f_1 = f_2\varrho^*$ and $\varrho^*g_1 = g_2\varrho^*$.

Proof Easy. □

Now, let $\varrho : G_1 \rightarrow G_2$ be an isomorphism. Then $\varrho(o_1) = o_2$ and $\varrho^*f_1 = f_2\varrho^*$, $\varrho^*g_1 = g_2\varrho^*$, where $\varrho^* = \varrho|G_1^*$. Define a mapping σ of \mathcal{G}_1 into the symmetric group on G_2^* by $\sigma(h)(\varrho^*(a)) = \varrho^*h(a)$ for all $h \in \mathcal{G}_1$ and $a \in G_1^*$. Clearly, σ is an injective group homomorphism, $\sigma(f_1) = f_2$ and $\sigma(g_1) = g_2$. Consequently, σ is an isomorphism of \mathcal{G}_1 onto \mathcal{G}_2 (in particular, the permutation groups \mathcal{G}_1 and \mathcal{G}_2 are similar).

Let \mathcal{A} denote the class of ordered quadruples (A, B, a, b) , where A is a finite group, B is a core-free subgroup of A and $a, b \in A$ are such that $A = \langle a, b \rangle$. If $\alpha_i = (A_i, B_i, a_i, b_i) \in \mathcal{A}$, $i = 1, 2$, then we shall write $\alpha_1 \sim \alpha_2$ (and we shall say

that α_1, α_2 are equivalent) iff there is an isomorphism $\lambda : A_1 \rightarrow A_2$ such that $\lambda(a_1) = a_2$, $\lambda(b_1) = b_2$ and $\lambda(B_1)$ is a conjugate of B_2 .

Let $\alpha = (A, B, a, b) \in \mathcal{A}$. Put $A/B = \{xB; x \in A\}$. For every $x \in A$, we have a permutation $\pi(x)$ of A/B defined by $\pi(x)(yB) = xyB$, $y \in A$. Then π is an injective group homomorphism of A into the symmetric group on A/B and we put $\Phi(\alpha) = \Phi(\alpha, o) = [\pi(A), A/B, \pi(a), \pi(b), o]$, where $o \notin A/B$.

Let $\alpha_1, \alpha_2 \in \mathcal{A}$. First, assume that $\alpha_1 \sim \alpha_2$. Then there is an isomorphism $\lambda : A_1 \rightarrow A_2$ with the properties as above. Define $\varrho : \Phi(\alpha_1) \rightarrow \Phi(\alpha_2)$ by $\varrho(o_1) = o_2$ and $\varrho(xB_1) = \lambda(x)w^{-1}B_2$ for every $x \in A_1$, where $w \in A_2$ is such that $\lambda(B_1) = B_2^w$. It is easy to check that ϱ is a bijection,

$$\varrho(\pi_1(a_1)(xB_1)) = \varrho(a_1xB_1) = a_2\pi(x)w^{-1}B_2 = \pi_2(a_2)(\varrho(xB_1))$$

and $\varrho(\pi_1(b_1)(xB_1)) = \pi_2(b_2)(\varrho(xB_2))$ for every $x \in A_1$. By 3.2, ϱ is a groupoid isomorphism.

Conversely, let $\varrho : \Phi(\alpha_1) \rightarrow \Phi(\alpha_2)$ be a groupoid isomorphism. Then $\varrho(o_1) = o_2$ and we can find a mapping $\tau : A_1 \rightarrow A_2$ such that $\varrho(xB_1) = \tau(x)B_2$ for every $x \in A_1$ and $\tau(x) = \tau(y)$, whenever $x^{-1}y \in B_1$. Put $w = \tau(1)^{-1} \in A_2$. Now, there is an isomorphism $\sigma : \pi_1(A_1) \rightarrow \pi_2(A_2)$ such that $\sigma(\pi_1(a_1)) = \pi_2(a_2)$, $\sigma(\pi_1(b_1)) = \pi_2(b_2)$ and $\sigma(\pi_1(x))(\varrho(yB_1)) = \varrho(\pi_1(x)(yB_1))$ for all $x, y \in A_1$. Put $\lambda = \pi_2^{-1}\sigma\pi_1$. Then $\lambda : A_1 \rightarrow A_2$ is an isomorphism and we have $\lambda(a_1) = a_2$, $\lambda(b_1) = b_2$ and $\lambda(x)\tau(y)B_2 = \tau(xy)B_2$ for all $x, y \in A_1$. That is, $\tau(xy)^{-1}\lambda(x)\tau(y) \in B_2$ and, for $x \in B_1, y = 1$, we get $\tau(1)^{-1}\lambda(x)\tau(1) = \tau(x)^{-1}\lambda(x)\tau(1) \in B_2$. Thus $\lambda(B_1) \subseteq B_2^w$. On the other hand, if $x \in A_1$ is such that $\lambda(x) \in B_2^w$ then $\tau(1)^{-1}\tau(x) = \tau(1)^{-1}\lambda(x)\tau(1) \cdot \tau(1)^{-1}\lambda(x)^{-1}\tau(x) \in B_2$, and hence $\tau(1) = \tau(x)$ and $x \in B_1$. We have proved that $\lambda(B_1) = B_2^w$. (Notice that the latter equality follows also from the inclusion $\lambda(B_1) \subseteq B_2^w$ and the facts that λ is injective and $\text{card}(A_1) = \text{card}(A_2)$, $\text{card}(A_1/B_1) = \text{card}(A_2/B_2)$ and $\text{card}(B_1) = \text{card}(B_2)$ are finite numbers.)

We have proved the following result:

Proposition 3.3 *Let $\alpha_1, \alpha_2 \in \mathcal{A}$. Then α_1 is equivalent to α_2 if and only if the groupoids $\Phi(\alpha_1)$ and $\Phi(\alpha_2)$ are isomorphic.*

4 Main result—the finite case

Let G be a finite simple balanced groupoid (see the second section). Then f, g are permutations of G^* and the transformation semigroup \mathcal{T} (see Proposition 2.4) is a finite group acting transitively on G^* . For $u \in G^*$, denote by \mathcal{H}_u the stabilizer of u in \mathcal{T} and put $\alpha_u = (\mathcal{T}, \mathcal{H}_u, f, g) \in \mathcal{A}$ (see the preceding section). If $v \in G^*$ then $\alpha_u \sim \alpha_v$, since the stabilizers \mathcal{H}_u and \mathcal{H}_v are conjugate in \mathcal{T} . Finally, define a mapping $\varrho : G \rightarrow \Phi(\alpha_u)$ by $\varrho(o) = o$ and $\varrho(a) = h\mathcal{H}_u$ for $a \in G^*$, $h \in \mathcal{T}$, $a = h(u)$. Clearly, ϱ is a groupoid isomorphism and we put $\Psi(G) = \Psi(G, u) = \alpha_u$.

Theorem 4.1 *The mappings Φ and Ψ yield a one-to-one correspondence between isomorphism classes of finite simple balanced groupoids and equivalence classes of quadruples from \mathcal{A} .*

Proof If $\alpha \in \mathcal{A}$ then $\Phi(\alpha)$ is a finite simple balanced groupoid and $\Phi(\alpha) \simeq \Phi(\beta)$ whenever $\alpha \sim \beta$. Conversely, if G is a finite simple balanced groupoid and $u, v \in G^*$ then $\Psi(G, u) \sim \Psi(G, v) \in \mathcal{A}$. Moreover, the groupoids G and $\Phi\Psi(G)$ are isomorphic. Now, if $G \simeq H$ then $\Phi\Psi(G) \simeq G \simeq H \simeq \Phi\Psi(H)$, and hence $\Psi(G) \sim \Psi(H)$. Finally, it is easy to see that $\alpha \sim \Phi\Psi(\alpha)$ for every $\alpha \in \mathcal{A}$. \square

Remark 4.2 Let \mathcal{B} denote the class of all quadruples $(A, B, a, b) \in \mathcal{A}$ such that $b^{-1}a \notin B^x$ for every $x \in A$. Then, by 4.1, we get a one-to-one correspondence between isomorphism classes of finite simple zeropotent balanced groupoids and equivalence classes of quadruples from \mathcal{B} .

5 Transitive transformation semigroups

Let \mathcal{T} be a transitive transformation semigroup on an infinite set G^* such that $\mathcal{T} = \langle f, g \rangle$, where f and g are mappings of G^* onto G^* . Let $o \notin G^*$ and $G = G^* \cup \{o\}$. Now, define a multiplication on G as follows:

- (1) $oo = o$;
- (2) $ox = o = xo$ for every $x \in G^*$;
- (3) $xy = o$ for all $x, y \in G^*$, $f(x) \neq g(y)$;
- (4) $xy = f(x) (= g(y))$ for all $x, y \in G^*$, $f(x) = g(y)$.

In this way, we get a groupoid $G = [\mathcal{T}, G^*, f, g, o]$.

Proposition 5.1 (i) o is an absorbing element of G .

(ii) G is balanced iff both f and g are permutations of G^* .

(iii) G is zeropotent iff $f(a) \neq g(a)$ for every $a \in G^*$.

(iv) G is simple iff $\ker(f) \cap \ker(g) = \text{id}_{G^*}$.

Proof The first three assertions are easy. Now, assume that G is simple and put $r = \text{id}_G \cup (\ker(f) \cap \ker(g))$. Then r is a congruence of G . If $r = \text{id}_G$ then $\ker(f) \cap \ker(g) = \text{id}_{G^*}$. If $r \neq \text{id}_G$ then $r = G \times G$ and $\ker(f) = \ker(g) = G^* \times G^*$, which is impossible.

Conversely, let $\ker(f) \cap (\ker(g)) = \text{id}_{G^*}$ and let r be a congruence of G , $r \neq \text{id}_G$. If $(x, o) \in r$ for some $x \in G^*$ then $r = G \times G$, since \mathcal{T} acts transitively on G^* . Hence, assume that $(a, b) \in r$, $a, b \in G^*$, $a \neq b$. Then either $f(a) \neq f(b)$ or $g(a) \neq g(b)$ and we can use the preceding observation to show that $r = G \times G$. \square

Lemma 5.2 Let $G_1 = [\mathcal{T}_1, G_1^*, f_1, g_1, o_1]$, $G_2 = [\mathcal{T}_2, G_2^*, f_2, g_2, o_2]$ and let $\varrho^* : G_1^* \rightarrow G_2^*$ be a bijection. Then $\varrho : G_1 \rightarrow G_2$, where $\varrho|_{G_1^*} = \varrho^*$ and $\varrho(o_1) = o_2$, is a groupoid isomorphism iff $\varrho^* f_1 = f_2 \varrho^*$ and $\varrho^* g_1 = g_2 \varrho^*$.

Proof Easy. \square

Let $\varrho : G_1 \rightarrow G_2$ be an isomorphism. Then $\varrho(o_1) = o_2$, $\varrho^* f_1 = f_2 \varrho^*$, $\varrho^* g_1 = g_2 \varrho^*$, $\varrho^* = \varrho | G_1^*$ and we get an isomorphism $\sigma : \mathcal{T}_1 \rightarrow \mathcal{T}_2$ such that $\sigma(f_1) = f_2$ and $\sigma(g_1) = g_2$.

Now, suppose that both f and g are permutations of G^* and denote by \mathcal{G} the permutation group generated by f, g . Then $\mathcal{T} \subseteq \mathcal{G}$ and \mathcal{G} is a transitive permutation group on G^* .

Lemma 5.3 *For all $a \in G^*$ and $h \in \mathcal{G}$ there is $k \in \mathcal{T}$ such that $k^{-1}h(a) = a$.*

Proof Use the fact that \mathcal{T} is transitive on G^* . □

If f_1, g_1, f_2, g_2 are permutations and if $\varrho : G_1 \rightarrow G_2$ is an isomorphism then ϱ induces an isomorphism $\sigma : \mathcal{G}_1 \rightarrow \mathcal{G}_2$ such that $\sigma(\mathcal{T}_1) = \mathcal{T}_2$, $\sigma(f_1) = f_2$ and $\sigma(g_1) = g_2$.

Let \mathcal{C} denote the class of ordered quadruples (A, B, a, b) , where $A = \langle a, b \rangle$ is a group, B is a core-free subgroup of A such that the index $[A : B]$ is infinite and $a, b \in A$ are such that for every $x \in A$ there are elements r, s in the subsemigroup generated by $\{a, b\}$ such that $xr, sx \in B$. Further, we shall define an equivalence relation \sim on \mathcal{C} in the same way as in the third section.

Let $A = \langle a, b \rangle$ be a group and let B be a core-free subgroup of A such that $[A : B]$ is infinite. Denote by S the subsemigroup of A generated by $\{a, b\}$; we have $S = \{a^i b^j ; i, j \in \mathbb{Z}, i, j \geq 0, i + j \geq 1\}$. Then A acts as a transitive permutation group on A/B (left cosets) and we have an injective homomorphism π of A into the symmetric group on A/B . Now, it is easy to see that S is transitive on A/B iff for all $x, y \in A$ there is $s \in S$ with $xsy \in B$. But this condition is clearly equivalent to the fact that $(A, B, a, b) \in \mathcal{C}$.

Let $\alpha = (A, B, a, b) \in \mathcal{C}$. We put $\Phi(\alpha) = [\pi(S), A/B, \pi(a), \pi(b), o], o \notin A/B$.

Proposition 5.4 *Let $\alpha_1, \alpha_2 \in \mathcal{C}$. Then $\alpha_1 \sim \alpha_2$ iff $\Phi(\alpha_1) \simeq \Phi(\alpha_2)$.*

Proof We may proceed similarly as in the proof of Proposition 3.3. □

6 Main result—the infinite case

Let G be an infinite simple strongly balanced groupoid. Then f, g are permutations of G^* and the permutation group $\mathcal{G} = \langle f, g \rangle$ is transitive on G^* . Now, similarly as in the fourth section, we define a quadruple $\Psi(G) \in \mathcal{C}$.

Theorem 6.1 *The mappings Φ and Ψ yield a one-to-one correspondence between isomorphism classes of infinite simple strongly balanced groupoids and equivalence classes of quadruples from \mathcal{C} .*

Proof Similar to that of Theorem 4.1. □

Remark 6.2 Let \mathcal{D} denote the class of all quadruples $(A, B, a, b) \in \mathcal{C}$ such that $b^{-1}a \notin B^x$ for every $x \in A$. Then, by Theorem 6.1, we get a one-to-one correspondence between isomorphism classes of infinite simple zeropotent strongly balanced groupoids and equivalence classes of quadruples from \mathcal{D} .

Example 6.3 Let

$$G^* = \{(i, j); i = 0, 1, j \in \mathbb{Z}, j \geq 1\} \cup \{(0, -j); j \in \mathbb{Z}, j \geq 0\}.$$

Define transformations f, ψ of the set G^* as follows:

- (1) $f(i, j) = (i, j - 1)$ for $(i, j) \neq (1, 1)$;
- (2) $f(1, 1) = (0, 0)$;
- (3) $\psi(0, j) = (0, -2j)$, $\psi(0, -2j) = (0, j)$, $\psi(1, j) = (0, -2j - 1)$,
 $\psi(0, -2j - 1) = (1, j)$ for $j \geq 1$;
- (4) $\psi(0, 0) = (0, -1)$, $\psi(0, -1) = (0, 0)$.

Further, put $g = f\psi$, denote by \mathcal{T} the subsemigroup of the transformation semigroup of G^* generated by f, g and choose $o \notin G^*$. Then $G = [\mathcal{T}, G^*, f, g, o]$ is a zeropotent simple balanced groupoid which is not strongly balanced.

References

- [1] Ježek, J., Kepka, T.: *Medial groupoids*. Rozpravy ČSAV 93/2, Academia, Praha, 1983.
- [2] Passman, D.: *Permutation Groups*. Harper and Row, New York, 1968.
- [3] Wielandt, N.: *Finite Permutation Groups*. Academic Press, New York, 1964.